Bid Schedule A

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - CUYAHOGA VALLEY NATIONAL

State: OH Opened at: Sterling, VA
County: CUYAHOGA By: Jason Albright
CUYAHOGA VALLEY NATIONAL PARK Date: 04/24/2012

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Jason Albright

Title: Contract Specialist Date: 04/25/2012

Contract Awarded to: Hamilton Pacific Chamberlain, LLC Date: 06/05/2012

Contractor	Bid Amount	Responsive
Hamilton Pacific Chamberlain, LLC	900,622.00	
101 Paul Mellon Ct.		
Waldorf, MD 20602		
Spanish Springs Construction, Inc.	1,168,319.00	
2060 East Greg St.		
Sparks, NV 89431		
Engineer's Estimate	1,279,000.00	

TABULATION OF BIDS

Date: 04/25/20

Bid Schedule A

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - CUYAHOGA VALLEY NATIONAL PARK

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
На	milton Pacific Cham	berlain, LLC	ALL	16,000.00	16,000.00
Spa	nish Springs Constr	uction, Inc.		100,000.00	100,000.00
EN	GINEER'S ESTIMA	ATE		116,430.00	116,430.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
На	milton Pacific Cham	berlain, LLC	ALL	15,000.00	15,000.00
-	nish Springs Constr			72,104.00	72,104.00
EN	GINEER'S ESTIMA	ATE		28,400.00	28,400.00
20301-3400	EACH	REMOVAL OF WHEE	LSTOP		
На	milton Pacific Cham	berlain, LLC	145	52.00	7,540.00
Spa	nish Springs Constr	uction, Inc.		45.00	6,525.00
EN	GINEER'S ESTIMA	ATE		41.00	5,945.00
20402-0000	CUYD	SUBEXCAVATION			
На	milton Pacific Cham	berlain, LLC	75	56.00	4,200.00
Spa	nish Springs Constr	uction, Inc.		125.00	9,375.00
EN	GINEER'S ESTIMA	ATE		40.00	3,000.00
30101-4000	TON	AGGREGATE BASE G	RADING C OR D		
На	milton Pacific Cham	berlain, LLC	140	34.00	4,760.00
Spa	nish Springs Constr	uction, Inc.		65.00	9,100.00
EN	GINEER'S ESTIMA	ATE		29.00	4,060.00
40910-0400	SQYD	SURFACE TREATMEN	NT, DESIGNATION 1D	, GRADING E	
На	milton Pacific Cham		64,300	2.45	157,535.00
Spa	nish Springs Constr	uction, Inc.		2.70	173,610.00
EN	GINEER'S ESTIMA	ATE		1.65	106,095.00
40940-1300	TON	EMULSIFIED ASPHAI	LT, GRADE CRS-2P		
На	milton Pacific Cham	berlain, LLC	80	1,260.00	100,800.00
Spa	nish Springs Constr	uction, Inc.		1,250.00	100,000.00
EN	GINEER'S ESTIMA	ATE		1,200.00	96,000.00
41002-2000	SQYD	MICRO-SURFACING,	TYPE 2		
На	milton Pacific Cham		64,300	4.04	259,772.00
Spa	nish Springs Constr	uction, Inc.		4.40	282,920.00
_	GINEER'S ESTIMA			3.60	231,480.00

Date: 04/25/20

Bid Schedule A

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - CUYAHOGA VALLEY NATIONAL PARK

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
41105-000	00 TON	BLOTTER			
Η	Iamilton Pacific Chamber	lain, LLC	20	17.00	340.00
S	panish Springs Construct	ion, Inc.		25.00	500.00
E	NGINEER'S ESTIMATI	Ξ		33.00	660.00
41410-100	00 LNFT	CRACK, CLEANING A	ND SEALING		
H	Iamilton Pacific Chamber	lain, LLC	18,800	0.75	14,100.00
S	panish Springs Construct	ion, Inc.		1.75	32,900.00
E	NGINEER'S ESTIMATI	3		3.45	64,860.00
42801-015	SQYD	FLEXIBLE PAVEMEN	T, FULL DEPTH PATCI	H, TYPE 2	
H	Iamilton Pacific Chamber	lain, LLC	3,400	51.00	173,400.00
S	panish Springs Construct	ion, Inc.		45.00	153,000.00
E	NGINEER'S ESTIMATI	3		100.00	340,000.00
50101-030	00 SQYD	REINFORCED RIGID I SMOOTHNESS/ROUG	PAVEMENT, 6-INCH DI HNESS	ЕРТН, ТҮРЕ С	
Н	Iamilton Pacific Chamber	lain, LLC	450	90.00	40,500.00
	panish Springs Construct			95.00	42,750.00
	NGINEER'S ESTIMATI			140.00	63,000.00
50201-000	00 SQFT	RIGID PAVEMENT PA	тсн		
H	Iamilton Pacific Chamber	lain, LLC	35	90.00	3,150.00
S	panish Springs Construct	ion, Inc.		55.00	1,925.00
E	NGINEER'S ESTIMATI	Ε		200.00	7,000.00
50202-000	00 LNFT	SEALING JOINTS ANI	O CRACKS		
H	Iamilton Pacific Chamber	lain, LLC	9,000	2.50	22,500.00
S	panish Springs Construct	ion, Inc.		3.50	31,500.00
E	NGINEER'S ESTIMATI	Ε		6.30	56,700.00
60915-100	00 EACH	WHEELSTOP, CONCR	ЕТЕ		
H	Iamilton Pacific Chamber	lain, LLC	10	90.00	900.00
S	panish Springs Construct	ion, Inc.		150.00	1,500.00
	NGINEER'S ESTIMATI			110.00	1,100.00
60915-200	00 EACH	WHEELSTOP, TIMBER	₹		
H	Iamilton Pacific Chamber	lain, LLC	135	50.00	6,750.00
S	panish Springs Construct	ion, Inc.		130.00	17,550.00
E	NGINEER'S ESTIMATI	3		190.00	25,650.00

TABULATION OF BIDS

Date: 04/25/20

Bid Schedule A

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - CUYAHOGA VALLEY NATIONAL PARK

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60920-0000	EACH	RESET WHEELSTOP			
Hami	lton Pacific Cham	nberlain, LLC	550	45.00	24,750.00
Spani	sh Springs Constr	ruction, Inc.		75.00	41,250.00
ENG	INEER'S ESTIMA	ATE		55.00	30,250.00
63401-1500	LNFT	PAVEMENT MARKING	S, TYPE H, SOLID		
Hami	lton Pacific Cham	nberlain, LLC	32,700	0.75	24,525.00
Spani	sh Springs Constr	ruction, Inc.		0.30	9,810.00
ENG	INEER'S ESTIMA	ATE		1.10	35,970.00
63405-0050	EACH	PAVEMENT MARKING	S, SYMBOLS , TYPE	J	
Hami	lton Pacific Cham	nberlain, LLC	40	240.00	9,600.00
Spani	sh Springs Constr	ruction, Inc.		175.00	7,000.00
ENG	NEER'S ESTIMA	ATE		160.00	6,400.00
63501-0000	LPSM	TEMPORARY TRAFFIC	CONTROL		
Hami	lton Pacific Cham	nberlain, LLC	ALL	8,100.00	8,100.00
Spani	sh Springs Constr	ruction, Inc.		65,000.00	65,000.00
ENG	INEER'S ESTIMA	ATE		38,000.00	38,000.00
63701-0000	EACH	FIELD OFFICE			
Hami	lton Pacific Cham	nberlain, LLC	1	6,400.00	6,400.00
Spani	sh Springs Constr	ruction, Inc.		10,000.00	10,000.00
ENG	NEER'S ESTIMA	ATE		18,000.00	18,000.00

Bid Schedule A

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - CUYAHOGA VALLEY NATIONAL PARK

BID ITEM CHECK PASS

Date: 04/25/20

No extension errors in this Schedule.

Bid Schedule A

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - CUYAHOGA VALLEY NATIONAL PARK

BID TOTAL CHECK PASS

Date: 04/25/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Hamilton Pacific Chamberlain, LLC	900,622.00	900,622.00	
Spanish Springs Construction, Inc.	1,168,319.00	1,168,319.00	

The apparent low bidder is 30 % below the engineer's estimate.

Bid Schedule B

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - JAMES A. GARFIELD NATIONAL

State: OH Opened at: Sterling, VA
County: LAKE By: Jason Albright
JAMES A. GARFIELD NATIONAL HISTORIC Date: 04/24/2012

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Jason Albright

Title: Contract Specialist Date: 04/25/2012

Contract Awarded to: <u>Hamilton Pacific Chamberlain</u>, LLC Date: 06/05/2012

Contractor	Bid Amount	Responsive
Hamilton Pacific Chamberlain, LLC	48,637.50	
101 Paul Mellon Ct.		
Waldorf, MD 20602		
Spanish Springs Construction, Inc.	63,529.00	
2060 East Greg St.		
Sparks, NV 89431		
Engineer's Estimate	31,000.00	

Date: 04/25/20

Bid Schedule B

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - JAMES A. GARFIELD NATIONAL

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Hamil	lton Pacific Chan	nberlain, LLC	ALL	7,600.00	7,600.00
Spani	sh Springs Const	ruction, Inc.		6,300.00	6,300.00
ENGI	NEER'S ESTIM	ATE		2,694.75	2,694.75
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Hamil	ton Pacific Chan	nberlain, LLC	ALL	3,000.00	3,000.00
Spani	sh Springs Const	ruction, Inc.		8,444.00	8,444.00
ENGI	NEER'S ESTIM	ATE		700.00	700.00
20301-3400	EACH	REMOVAL OF WHEEL	LSTOP		
Hamil	ton Pacific Chan	nberlain, LLC	8	51.00	408.00
Spani	sh Springs Const	ruction, Inc.		45.00	360.00
ENGI	NEER'S ESTIM	ATE		41.00	328.00
41002-2000	SQYD	MICRO-SURFACING,	TYPE 2 , CQS-1H		
Hamil	ton Pacific Chan	nberlain, LLC	3,200	9.00	28,800.00
Spanis	sh Springs Const	ruction, Inc.		10.00	32,000.00
ENGI	NEER'S ESTIM	ATE		3.60	11,520.00
41105-0000	TON	BLOTTER			
Hamil	ton Pacific Chan	nberlain, LLC	5	17.00	85.00
Spanis	sh Springs Const	ruction, Inc.		25.00	125.00
ENGI	NEER'S ESTIM	ATE		33.00	165.00
41410-1000	LNFT	CRACK, CLEANING A	AND SEALING		
Hamil	ton Pacific Chan	nberlain, LLC	105	2.50	262.50
Spanis	sh Springs Const	ruction, Inc.		17.00	1,785.00
ENGI	NEER'S ESTIM	ATE		3.45	362.25
42801-0150	SQYD	FLEXIBLE PAVEMEN	T, FULL DEPTH PATC	CH, TYPE 2	
Hamil	ton Pacific Chan	nberlain, LLC	60	51.00	3,060.00
Spanis	sh Springs Const	ruction, Inc.		52.50	3,150.00
ENGI	NEER'S ESTIM	ATE		100.00	6,000.00
60915-1000	EACH	WHEELSTOP, CONCR	ETE		
Hamil	ton Pacific Chan	nberlain, LLC	8	79.00	632.00
Spanis	sh Springs Const	ruction, Inc.		130.00	1,040.00
ENGI	NEER'S ESTIM	ATE		110.00	880.00

Date: 04/25/20

TABULATION OF BIDS

Bid Schedule B

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - JAMES A. GARFIELD NATIONAL

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60920-0000	EACH	RESET WHEELSTOP			
Hamil	ton Pacific Chamb	erlain, LLC	27	40.00	1,080.00
Spanis	sh Springs Constru	ction, Inc.		75.00	2,025.00
ENGI	NEER'S ESTIMA	ГЕ		55.00	1,485.00
63401-1500	LNFT	PAVEMENT MARKIN	NGS, TYPE H, SOLID		
Hamil	ton Pacific Chamb	erlain, LLC	950	2.20	2,090.00
Spanis	sh Springs Constru	ction, Inc.		1.00	950.00
ENGI	NEER'S ESTIMA	ГЕ		1.10	1,045.00
63405-0050	EACH	PAVEMENT MARKIN	NGS, SYMBOLS , TYPE .	J	
Hamil	ton Pacific Chamb	erlain, LLC	2	240.00	480.00
Spanis	sh Springs Constru	ction, Inc.		175.00	350.00
ENGI	NEER'S ESTIMA	ΓΕ		160.00	320.00
63501-0000	LPSM	TEMPORARY TRAFF	TIC CONTROL		
Hamil	ton Pacific Chamb	erlain, LLC	ALL	1,140.00	1,140.00
Spanis	sh Springs Constru	ction, Inc.		7,000.00	7,000.00
ENGI	NEER'S ESTIMA	ΓΕ		5,500.00	5,500.00

Bid Schedule B

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - JAMES A. GARFIELD NATIONAL

BID ITEM CHECK PASS

Date: 04/25/20

No extension errors in this Schedule.

Bid Schedule B

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - JAMES A. GARFIELD NATIONAL

BID TOTAL CHECK PASS

Date: 04/25/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Hamilton Pacific Chamberlain, LLC	48,637.50	48,637.50	
Spanish Springs Construction, Inc.	63,529.00	63,529.00	

The apparent low bidder is 57 % above the engineer's estimate.

Bid Schedule C

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - PERRY'S VICTORY &

State: OH Opened at: Sterling, VA
County: OTTAWA By: Jason Albright
PERRY'S VICTORY & INT'L PEACE Date: 04/24/2012

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Jason Albright

Title: Contract Specialist Date: 04/25/2012

Contract Awarded to: <u>Hamilton Pacific Chamberlain, LLC</u>
Date: 06/05/2012

Contractor	Bid Amount	Responsive
Hamilton Pacific Chamberlain, LLC	45,415.00	
101 Paul Mellon Ct.		
Waldorf, MD 20602		
Spanish Springs Construction, Inc.	60,852.00	
2060 East Greg St.		
Sparks, NV 89431		
Engineer's Estimate	37,000.00	

Date: 04/25/20

TABULATION OF BIDS

Bid Schedule C

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - PERRY'S VICTORY &

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Han	nilton Pacific Cham		ALL	7,600.00	7,600.00
Spa	nish Springs Constr	uction, Inc.		6,000.00	6,000.00
EN	GINEER'S ESTIMA	ATE		16,033.50	16,033.50
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Han	nilton Pacific Cham	berlain, LLC	ALL	3,000.00	3,000.00
Spa	nish Springs Constr	uction, Inc.		7,777.00	7,777.00
EN	GINEER'S ESTIMA	ATE		540.00	540.00
41002-2000	SQYD	MICRO-SURFACING,	TYPE 2 , CQS-1H		
Han	nilton Pacific Cham	berlain, LLC	1,750	16.70	29,225.00
Spa	nish Springs Constr	uction, Inc.		20.00	35,000.00
EN	GINEER'S ESTIMA	ATE		3.60	6,300.00
41105-0000	TON	BLOTTER			
Har	nilton Pacific Cham	berlain, LLC	5	17.00	85.00
Spa	nish Springs Constr	uction, Inc.		25.00	125.00
ENG	GINEER'S ESTIMA	ATE		33.00	165.00
41410-1000	LNFT	CRACK, CLEANING A	ND SEALING		
Han	nilton Pacific Cham	berlain, LLC	570	1.00	570.00
Spa	nish Springs Constr	uction, Inc.		5.00	2,850.00
ENG	GINEER'S ESTIMA	ATE		3.45	1,966.50
42801-0150	SQYD	FLEXIBLE PAVEMEN	T, FULL DEPTH PATC	H, TYPE 2	
Han	nilton Pacific Cham	berlain, LLC	1	145.00	145.00
Spa	nish Springs Constr	uction, Inc.		700.00	700.00
EN	GINEER'S ESTIMA	ATE		100.00	100.00
63401-1500	LNFT	PAVEMENT MARKIN	GS, TYPE H, SOLID		
Han	nilton Pacific Cham	berlain, LLC	850	1.00	850.00
Spa	nish Springs Constr	uction, Inc.		1.00	850.00
EN	GINEER'S ESTIMA	ATE		1.10	935.00
63405-0050	EACH	PAVEMENT MARKIN	GS, SYMBOLS , TYPE .	J	
Han	nilton Pacific Cham	berlain, LLC	6	240.00	1,440.00
Spa	nish Springs Constr	uction, Inc.		175.00	1,050.00
ENG	GINEER'S ESTIMA	ATE .		160.00	960.00

Date: 04/25/20

TABULATION OF BIDS

Bid Schedule C

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - PERRY'S VICTORY &

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63501-0000	LPSM	TEMPORARY TRAFF	TIC CONTROL		
Hamilton Pacific Chamberlain, LLC			ALL	2,500.00	2,500.00
Spanish Springs Construction, Inc.				6,500.00	6,500.00
ENGINEER'S ESTIMATE				10,000.00	10,000.00

Bid Schedule C

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - PERRY'S VICTORY &

BID ITEM CHECK PASS

Date: 04/25/20

Bidder	Item No.	Bidder's	Computed
Diddei	item ite.	Extension	Extension

No extension errors in this Schedule.

Bid Schedule C

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - PERRY'S VICTORY &

BID TOTAL CHECK PASS

Date: 04/25/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Hamilton Pacific Chamberlain, LLC	45,415.00	45,415.00	
Spanish Springs Construction, Inc.	60,852.00	60,852.00	

The apparent low bidder is 23 % above the engineer's estimate.

Bid Schedule D

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - HOPEWELL CULTURE NATIONAL

State: OH Opened at: Sterling, VA
County: ROSS By: Jason Albright
HOPEWLL CULTURE NATIONAL Date: 04/24/2012

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Jason Albright

Title: Contract Specialist Date: 04/25/2012

Contract Awarded to: <u>Hamilton Pacific Chamberlain</u>, <u>LLC</u> Date: 06/05/2012

Contractor	Bid Amount	Responsive
Hamilton Pacific Chamberlain, LLC	94,333.00	
101 Paul Mellon Ct.		
Waldorf, MD 20602		
Spanish Springs Construction, Inc.	125,500.00	
2060 East Greg St.		
Sparks, NV 89431		
Engineer's Estimate	97,557.00	

Date: 04/25/20

Bid Schedule D

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - HOPEWELL CULTURE NATIONAL

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Har	nilton Pacific Cham	berlain, LLC	ALL	9,000.00	9,000.00
Spa	nish Springs Constr	uction, Inc.		12,000.00	12,000.00
EN	GINEER'S ESTIMA	ATE		2,400.00	2,400.00
15401-0000	LPSM	CONTRACTOR TEST	ING		
	nilton Pacific Cham	· · · · · · · · · · · · · · · · · · ·	ALL	4,000.00	4,000.00
•	nish Springs Constr			10,000.00	10,000.00
EN	GINEER'S ESTIMA	ATE		2,400.00	2,400.00
20301-3400	EACH	REMOVAL OF WHEE	LSTOP		
Har	nilton Pacific Cham	berlain, LLC	12	45.00	540.00
-	nish Springs Constr			45.00	540.00
EN	GINEER'S ESTIMA	ATE		41.00	492.00
41002-2000	SQYD	MICRO-SURFACING,	TYPE 2 , CQS-1H		
Har	nilton Pacific Cham	berlain, LLC	12,000	5.17	62,040.00
Spa	nish Springs Constr	uction, Inc.		5.75	69,000.00
EN	GINEER'S ESTIMA	ATE		3.60	43,200.00
41105-0000	TON	BLOTTER			
Har	nilton Pacific Cham	berlain, LLC	10	17.00	170.00
Spa	nish Springs Constr	uction, Inc.		25.00	250.00
EN	GINEER'S ESTIMA	ATE		33.00	330.00
41410-1000	LNFT	CRACK, CLEANING A	AND SEALING		
Har	nilton Pacific Cham	berlain, LLC	4,800	0.75	3,600.00
Spa	nish Springs Constr	uction, Inc.		2.00	9,600.00
EN	GINEER'S ESTIMA	ATE		3.45	16,560.00
42801-0150	SQYD	FLEXIBLE PAVEMEN	T, FULL DEPTH PATO	СН, ТҮРЕ 2	
Har	nilton Pacific Cham	berlain, LLC	35	100.00	3,500.00
Spa	nish Springs Constr	uction, Inc.		75.00	2,625.00
EN	GINEER'S ESTIMA	ATE		100.00	3,500.00
60915-1000	EACH	WHEELSTOP, CONCE	RETE		
Har	nilton Pacific Cham	berlain, LLC	12	79.00	948.00
Spa	nish Springs Constr	uction, Inc.		130.00	1,560.00
EN	GINEER'S ESTIM <i>A</i>	ATE		110.00	1,320.00

Date: 04/25/20

TABULATION OF BIDS

Bid Schedule D

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - HOPEWELL CULTURE NATIONAL

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60920-0000	EACH	RESET WHEELSTOP			
Ham	nilton Pacific Cham	berlain, LLC	43	40.00	1,720.00
Spar	nish Springs Constr	uction, Inc.		75.00	3,225.00
ENC	GINEER'S ESTIMA	TE		55.00	2,365.00
63401-1500	LNFT	PAVEMENT MARKIN	GS, TYPE H, SOLID		
Ham	nilton Pacific Cham	berlain, LLC	7,300	0.75	5,475.00
Spar	nish Springs Constr	uction, Inc.		0.50	3,650.00
ENC	GINEER'S ESTIMA	TE		1.10	8,030.00
63405-0050	EACH	PAVEMENT MARKIN	GS, SYMBOLS , TYPE	J	
Ham	nilton Pacific Cham	berlain, LLC	6	240.00	1,440.00
Spar	nish Springs Constr	uction, Inc.		175.00	1,050.00
ENC	GINEER'S ESTIMA	TE		160.00	960.00
63501-0000	LPSM	TEMPORARY TRAFFI	C CONTROL		
Ham	nilton Pacific Cham	berlain, LLC	ALL	1,900.00	1,900.00
Spar	nish Springs Constr	uction, Inc.		12,000.00	12,000.00
ENC	GINEER'S ESTIMA	TE		16,000.00	16,000.00

Bid Schedule D

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - HOPEWELL CULTURE NATIONAL

BID ITEM CHECK PASS

Date: 04/25/20

DAICHSIOH DAICHSIOH	Bidder	Item No.	Bidder's Extension	Computed Extension
---------------------	--------	----------	-----------------------	-----------------------

No extension errors in this Schedule.

Bid Schedule D

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - HOPEWELL CULTURE NATIONAL

BID TOTAL CHECK PASS

Date: 04/25/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Hamilton Pacific Chamberlain, LLC	94,333.00	94,333.00	
Spanish Springs Construction, Inc.	125,500.00	125,500.00	

The apparent low bidder is 3 % below the engineer's estimate.

Bid Schedule E

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - WILLIAM HOWARD TAFT NATIONAL

State: OH Opened at: Sterling, VA
County: HAMILTON By: Jason Albright
WILLIAM HOWARD TAFT NATL HISTORIC Date: 04/24/2012

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Jason Albright

Title: Contract Specialist Date: 04/25/2012

Contract Awarded to: Hamilton Pacific Chamberlain, LLC Date: 06/05/2012

Contractor	Bid Amount	Responsive
Hamilton Pacific Chamberlain, LLC	40,797.00	
101 Paul Mellon Ct.		
Waldorf, MD 20602		
Spanish Springs Construction, Inc.	55,244.00	
2060 East Greg St.		
Sparks, NV 89431		
Engineer's Estimate	14,000.00	

Date: 04/25/20

TABULATION OF BIDS

Bid Schedule E

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - WILLIAM HOWARD TAFT NATIONAL

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Han	nilton Pacific Cham	berlain, LLC	ALL	3,500.00	3,500.00
Spa	nish Springs Constr	uction, Inc.		5,500.00	5,500.00
EN	GINEER'S ESTIMA	TE		1,203.50	1,203.50
15401-0000	LPSM	CONTRACTOR TEST	ING		
Han	nilton Pacific Cham	berlain, LLC	ALL	3,500.00	3,500.00
Spa	nish Springs Constr	uction, Inc.		5,444.00	5,444.00
EN	GINEER'S ESTIMA	TE		350.00	350.00
20301-3400	EACH	REMOVAL OF WHEE	LSTOP		
Han	nilton Pacific Cham	berlain, LLC	8	45.00	360.00
Spa	nish Springs Constr	uction, Inc.		45.00	360.00
EN	GINEER'S ESTIMA	ТЕ		41.00	328.00
41002-2000	SQYD	MICRO-SURFACING,	TYPE 2, CQS-1H		
Har	nilton Pacific Cham	berlain, LLC	1,100	25.00	27,500.00
Spa	nish Springs Constr	uction, Inc.		30.00	33,000.00
EN	GINEER'S ESTIMA	TE		3.60	3,960.00
41105-0000	TON	BLOTTER			
Har	nilton Pacific Cham	berlain, LLC	5	17.00	85.00
Spa	nish Springs Constr	uction, Inc.		25.00	125.00
ENG	GINEER'S ESTIMA	TE		33.00	165.00
41410-1000	LNFT	CRACK, CLEANING	AND SEALING		
Har	nilton Pacific Cham	berlain, LLC	30	1.00	30.00
Spa	nish Springs Constr	uction, Inc.		40.00	1,200.00
ENG	GINEER'S ESTIMA	TE		3.45	103.50
60915-1000	EACH	WHEELSTOP, CONC	RETE		
Han	nilton Pacific Cham	berlain, LLC	8	79.00	632.00
Spa	nish Springs Constr	uction, Inc.		130.00	1,040.00
EN	GINEER'S ESTIMA	TE		110.00	880.00
60920-0000	EACH	RESET WHEELSTOP			
Han	milton Pacific Cham	berlain, LLC	28	45.00	1,260.00
Spa	nish Springs Constr	uction, Inc.		75.00	2,100.00
ENG	GINEER'S ESTIMA	TE		55.00	1,540.00

Date: 04/25/20

TABULATION OF BIDS

Bid Schedule E

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - WILLIAM HOWARD TAFT NATIONAL

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63401-1500	LNFT	PAVEMENT MARKIN	IGS, TYPE H, SOLID		
Hamilt	ton Pacific Chaml	berlain, LLC	1,500	1.00	1,500.00
Spanis	h Springs Constru	action, Inc.		0.75	1,125.00
ENGI	NEER'S ESTIMA	TE		1.10	1,650.00
63405-0050	EACH	PAVEMENT MARKIN	IGS, SYMBOLS , TYPE .	J	
Hamil	ton Pacific Chaml	berlain, LLC	2	240.00	480.00
Spanis	h Springs Constru	uction, Inc.		175.00	350.00
ENGI	NEER'S ESTIMA	TE		160.00	320.00
63501-0000	LPSM	TEMPORARY TRAFF	IC CONTROL		
Hamilt	ton Pacific Chaml	berlain, LLC	ALL	1,950.00	1,950.00
Spanis	h Springs Constru	uction, Inc.		5,000.00	5,000.00
ENGI	NEER'S ESTIMA	TE		3,500.00	3,500.00

Bid Schedule E

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - WILLIAM HOWARD TAFT NATIONAL

BID ITEM CHECK PASS

Date: 04/25/20

Bidder	Item No.	Bidder's Extension	Computed Extension
--------	----------	-----------------------	--------------------

No extension errors in this Schedule.

Bid Schedule E

Project No.: PRA-MWR PMS OH(1)

Project Name: OHIO NATIONAL PARK PAVEMENT PRESERVATION - WILLIAM HOWARD TAFT NATIONAL

BID TOTAL CHECK PASS

Date: 04/25/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Hamilton Pacific Chamberlain, LLC	40,797.00	40,797.00	
Spanish Springs Construction, Inc.	55,244.00	55,244.00	

The apparent low bidder is ** % above the engineer's estimate.